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PART _ A
BOTANY

(Maximum : 30 Scores) Time: l Hour

Cool-off time : 10 Minutes

Answer any 3 questions from I to 5. Each carries 1 score. (3 x I = 3)

Choose the correct answer. The organelle known as power house of the cell is :

(a) Ribosome

(c) Mitochondrion

Choose the correct answer.

Casparian strips are present in :

(a) Dicot root

(c) Dicot leaf

(b) Vacuole

(d) Chloroplast

(b) Dicot stem

(d) Monocot stem

3. Observe the figure given below. Name the organism.

Observe the relationship between the first two terms and fill in the blank.

Metaphase : Spindle fibres attach to kinetochores.

: Chromatids move to opposite poles.

Fill in the blank.

The number of carbon atoms in acetyl co-enzyme A, which take part in Kreb's cycle is

FY.26
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1.

PART _ A

BOTANY

(Maximum :30 Scores) Time: l Hour'

Cool-off time : 10 Minutes
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1 ccpcd ollcoro. (3 x I = 3)
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II.

6.

Answer any 9 questions from 6 to 16. Each carries 2 scores.

Observe the figure given below :

(D

(D
(D

Transport
protcin

,-

O
Outer side
of cell

Membrane

Name the process.

Define the above identified process.

7. Analyse the table given below and fill in the blanks :

8. Define hydroponics. Write one advantage of it.

(9 x2 = 18)

&ll* Transported
molecule

Inner side
of cell

(a)

(b)

(A) (B)

Zygotene (a)

(b) Crossing over

(c) Dissolution of synaptonemal complex

Diakinesis (d)
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II. 6 a3orc8 16 orooao]Ba c'rcoJ6ug1o8 
"63o<oa,1er3" 

9 ogegproro,lm-g<ororoooe]tul]e,.

2 cagcd ollor.

6. 'rloros moEalojlo]€olcm Jl6or" crllcdledlao;a, :

(D

{D
(D

-

-
Outer side
of cell hd
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"-t 
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:

(A)

oom-:coc$oE

--(b)-

(B)

i (a)
i--
l

t^
r G(6COD|o{./) 6JCOI6

(c) mr1mc"-r-cgccrjlooE caco$a"cn:1ocfl

onlom:cetg"sroE

ol)aocooomm-im-r" (d)

8. oooocccDca"-rcornlaicru" ogoncoelmD" ? oro<ojl ocod ao3 cam'a ogel<orle.

(9 x2 = 18)

Transport
protein

ar- Transported
molecule

lnner side
of cell

(a)

(b)
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L Peculiarities of certain cell organelles are given below :

a. Involved in protein synthesis.

b. Made up of many flat, disc shaped sacs or cisternae.
{' Bearribosomes on their surfuce.

d. Rich in hydrolyic enzymes.

e. Membrane is absent.

Analyse the table given below.and fill in rhe blanks a, b, c, d.

Cyclic photo-

phosphorylation
Non-cyclic

photophosphorylation

Movement of electrons

Number ofphotosyst6ms

Splitting of water

I l. The first step in respiration is glycolysis.

(a) Define glycolysis.

(b) Write the site of glycolysis.

FY.26
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FY-26 7 P.T.O.



r_-'=-

12. Observe the given figure showing Co pathway.

Identifu the cells A and B.

Name the Co acid formed through this pathway.

Name the enzyme involved in the formation of Co acid.

13. Aerobic respiration and anaerobic respiration are two types of respiration.

(a) What is anaerobic respiration ?

(b) write the change that occurs to pyruvic acid in yeast celrs.

14. Notice the three stages of Kelvin cycle given below :

(a) Arrange the above stages in correct order.

(b) Kelvin cycle is also known as c, cycle (pathway). Give reason.

(a)

(b)

(c)

Atmospheric CO2

Plasmo-'

FY.26



Atmospheric CO2

12. CO .rl crOolos el loJ os mCfl e1 ojl ol@ol(m Jl 1tolo crfl o'l e,*il eet3o.

A, B 
"gcnfl 

oacuosuRUA ofl o19go1or3a.

@o rrrcrolaoiloE gerncolm C+ oqmtlaploofl aoloovSrolel.

c4 raomnaDloos gdgcemordloS ruoocarao](m ooo0oomrlon!

ccrJoo9]ro)le.

13. ojcaD]@Jm)o)o, GneJcQoJc/ol(uo?o ogcrrilonocn o5rB- (o)oorolellgD (olcDmo qnsa6,fml.

(a) crnolc(oluojolmo 
"6cmcoE "g)clo-?

(b) eotl$ cec<roongiloE oo.,-ro3oJlai orOmlorncri m)orcoJldolcm oc$o o$cnD-?

(a)

(b)

(c)

14. ercnfloJlo8 r-rlaoro'r1oo! o3(m-oergdoncrd,-r3otos moEa,loJloleerScmoiqgoir,fleo3a :

o1 ctlasr od, dl ea cnco"si o6, e,c d ceu c a"m-:l c el 
"sj 

oA

(a) a3egil<rfl cnoEalorlol@o](m "oSonod <.roo'looccol ceaolofl oE €)el@le.

(b) clco8oJloE oJ(alo C, ollao (.-rc<o) .,{DCm}o ooolologs}crn}. @,co6Ino o{)e}ol}al.
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items of column A with B

(a) Doublefertilisation (i) Bryophyte

(b) Heterospory (ii) Algae

(c) Protonema (iii) Gymnosperm

(d) Naked seeds (iv) Pteridophyte

(v) Angiosperm

15. Match the

16. Cell theory was formulated by two scientists.

(a) Name the scientists.

(b) Write the two main points in cell theory.

Answer any 3 questions from 17 to 2'.Each carries 3 scores.
Observe the figures A and B.

Identify the aestivation A and B.

Write one peculiarity of A.

Name the three kinds of petals in B.

18' The plant growth regulators are divided into growth promoters and growth inhibitors.(a) Name the three hormones, which are known as plant growth promoters.
(b) Name the growth inhibitor which is knciwn as ,stress 

hormone,.
(c) write any two rores of the above identified stress hormone.

III.

17.
(3x3=9)

(a)

(b)

(c)

0
B

O
A

FY-26
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G&cQo A ol3o B or3o GoJ@]o 
".rs1 

cudaoSa :

(a) oienJlsmr" c99?:
(ii) argoEccn

(c) ci.,-rccgccrila

(d) Gromcol5co enIleon<B

1 6. cac<.om)'l eu ccnDo <o$laolq oi oene" uoc ml"6o) eool 6 GD6I1)".

(a) oD uocoli<ole%roo3os colo@e]o.lJa

(b) cac Uootj.| elcroroojl o s @6rE- (oJ cD c m c 
"-l 

c ot1 o! laod "9 
v 3ro 34,.

III. 17 alomf 20 oLoo cc-rco5ongilcf €oorailFr]c 3 "ogB6tlncr;
3 cogcd oilcor.

A, B "6cnfl "CI$glcoL"uoE 
roilol4cllcoSa

A ecu3os oo3 mtoJlcuoos/(o oCIe]rola.

B oioet olGD- <o)@o BgoBg;os eolo<oeltollar.

18. mrmt5ongiloa olg64c crflor(crorom oelsal@Bog org64c m-l<rocojlaod "Offnl"
ot g 64 c to'rsc5g ac o1 a od 

"61 
cm;o @ 6l'E caojl or oo oi o1 2f 01 €olcm]'

17. el3olos m<rf,a,lorlol€oJcm J1o'rar:,.6 A, B .4crn'lol co'lolaMao3a.

(a)

(b)

(c)
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0
B

O
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15.

(A) (B)

(i) lenrccorcoo"ng'

(b) oor,geoceqlcol

(iii) BloGmcGolo

(iv) osolcotlcoo"ng

(v) orgo8elcoceolo



19. Observe the figures A and B given below :

Name the type of venation in A and B.

Define venation.

20. Observe the figure given below :

Bundle sheath

X1'lem

Phloem

Adarral
idermis

Write any three features on mesophyll cells from the figure.

(a)

(b)

A

FY.26 t2
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A, B .,gcrn1ol "E(oi 
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20. dJolos maf,olotlol€o3cm 
"-L16cor" 
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Bundle sheath

Xylem

Phloem

Stoma

ilC<orororlo8 crilcm-dlerruc"o1cE calcuoonglos a3crd'mloilcrn"s<oaod ogvl<tnla'

(a)

(b)

A
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l.

PART - B
ZOOLOGY

(Maximum :30 Scores)

Answer any 3 questions from I to 5. Each carries I score.

Select the enzyme that facilitate the following reaction :

co, + H2o <_? H2CO3 ?.+ HCO' + U+

(a) Succinicdehydrogenase

(c) Carbonic anhydrase

(b) RuBiSCO

(d) Lipase

(b) Sarcomere

(d) M-line

(b) Comb plates, Bio luminisce,nce

(d) Radula, Visceral hump

(b) Species

(d) Cell

Time: l Hour

Cool-off time : l0 Minutes

(3x1=3)

(9 x2 = l8)

2. Which among the following is a primary metabolite ?

Alkaloids, Antibiotics, Amino acids, Flavonoids

3. Name the portion of the myofibril ben'een r\\.o successi'e Z-lines.

4. Identiff the word pair applicable to phylum ctenophora.

(a) Nephridia,Parapodia

(c) Polyp, Metagenesis

(a) H-zone

(c) I-band

Unit of classification is

(a) Taxon

(c) Genus

II. Answer any 9 questions from 6 to 16. Each carries 2 scores.

6. Cells of human body perform different types of movement.

Write any two types of movement and the parts that exhibit the movement.

FY.26 t4
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PART _ B
ZOOLOGY

(Maximum : 30 Scores)

I. 1 agoroS 5 otoocoSg colcrjJ@Reilog o{}errore,lerlo 3
I copcd o-[koro.

1.

Succinic dehydrogenase

Carbonic anhydrase

(b) RuBiSco

(d) Lipase

Time: l Hour

Cool-off time : 10 Minutes

ooqtsomn(ri pconDoooelo)l6,.

(3x1=3)

o crnl ol oo3cm 1"-r ol dolo'l mo @l 01 G) o H Slo.lo)lcm .,g od o o ruo o co @ o 5r-6ro SJocpD e3161le :

cor+H2O:: H2CO3. - HCOr*F1*

(a)

(c)

2.

c.u ySl orro}1rl o g cJroslcroslfiD c6rB-

(a) H-zone

(c) I-band

(a) Nephridia.parapodia

(c) Polyp, Metagenesis

Taxon

Genus

"3nri?

Z - ooa m;av6aer1sco1 eLpg eco :rnrl oo! c.,_r ol

(b) m.rcdceercalo.r<6

(d) M-line

(b) Comb plates, Bio luminescence

(d) Radula, Visceral hump

(b) Species

(d) Cell

4. dlcmcc",cco 
"0cm ooo-cerorcr'lm-ccorcg'laeilcrn oJBegcoli <irno1401€o]e

5. ordgflaoemcroloo! rfiaslorucccn o€ls6o cosm:
(a)

(c)

il. 6 alroo8 16 orooco3E co.JcBJtruglog o0oorc,'lerp g o6g<ororlrn- gromoooel(',lo,.
2 aopctt o-[loro. 

e x 2= 1g)
6. am]"sr5codloorof oa cac<nonoa oJJ(oJqliCI)oo or Er ff)56Ro0 a,cern1oo3cm3.

og3o<olealaJo o5Yl3- (D@o olEJfi)amglo <anot (olndco16[cer3cm GrooraooJ@ReJos coJo]o
og)el<ulle.

orrni o1 aoScmo or'l o8 a ol 1.,_r c Lc a1 a o a q oaru c o og d
Alkalgids, Antibioti c s. -{mino ac ids. Flar.onoids
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I
7. Find out the suitable term from the box for the disorders stated.

(a) Accumulation of Urea in blood.

(b) Insoluble mass of crystallised salts in the kidney.
(c) Surgical method for the correction of Renar failures.
(d) Inflammation of glomeruli of kidney.

8. Characteristics of certain animals are given.

Anange them under the 'crass' to which these animars belong.
(i) Skin is moist without scales.

(ii) Body is covered by dry and cornified skin.

(iii) Shed the scales as skin cast.

(iv) can live in aquatic as we, as terresrriar habitats.

9. When substrate consentration increases, the
first. After attaining a maximum velocity, it
substrates. Why ?

velocity of enzymatic reaction increases at
cannot be exceeded by further addition of

y/ "The products of digestion like glucose and
active transport, where as electrolytes like
simple diffirsion.',

How will you differentiate active transport

11. Distinguish between the following terms :

(a) IRV, ERV

(b) Tidal volume, Residual volume

amino acids are absorbed to the blood by
chloride ions are generally absorbed by

from simple diffi.rsion ?

12' Enzymes present in Saliva, gastric juice and intestinal juice are given in the box.
(a) Identift the enzyme present in gastric juice and intestinal juice one each.
(b) Write their digestive function :

Dialysis, Kidney transprantation, Glomeruronephritis, ur..in n*ut?iluti

Pepsin, Lysozyme, Trypsinogeno Rennin, Lipases, Salivary amylase

FY.26



7. €o3(m ole@Coleodeer- ccOrceel4 oJBo cerucflcf, cn'lcm- alo5reoro1

a)

)
c)

d)

Accumulation of Urea in blood.

Insoluble mass of crystallised salts in the kidney.

Surgical method for the correction of Renal failures.

Inflammation of glomeruli of ki

i)

ii)
iii)
iv)

et d'loJla,qos mtoJlccronsj<oalod cno8e,loio1€olm]. Glaoroao crg eCloJlaod

]@ 'gcmtl' eglos coJo3eo6€ol tolcoe (edl6,@i€ole'

Skin is moist without scales.

Body is covered by dry and cornified skin.

Shed the scales as skin cast'

Can live in aquatic as well as terrestrial habitats.

sroelocoodrBglos ,r3o.rero') odolgflaerlccn-icod .,9r3oonuz1onf ruoldso)cD cnloeer-

:rr;sasrsnr'icf otocu'leerlcml. .Ocmcaf i.lotdorDm m'loasr- eorciloo! "r-rcoa5otot1cfl

4;cnr1corccro",vo <ooielecoaonod cr:daerlcm@loec5re- occrulololdGlom Gol@CI)

ot 6rdeo3crrll B. €)ctoloac ene" ?

"B.,oolcoror'loo3 ggcmoRgcao Slc€occrD-, ooa1ccncorgm1oo"c,6lcrn1. *Odd[sco8m-:-

c.lc65i1et;os oano'rororlcelaei orqcrjloemo ooJQoc$Slcml. "6'1cmctu8 
c$coooGD-

1glocaocdrn;aod c.lcerSgg peta-c(scooer8Jer.6 e"r"et] GBoodolJcolmoro"ilellosolcsm-

fi 'lJ c (l) c 06T 
.I) (o) c ao)1 o,9 cn1 o em o o'l I o.s sl(m ct)-. "

cq€ni [sco0m-ico.rc6$ocn oocrord o-r5c":cno'orlif cnlcm". crilanrcd o066Bocn

cord<oilol4olcorgo ? "

o'rcrrll o1 oerScm 
"u 

aonod <in oa1 a g@ ol Jor5cm)oae3<ol]e :

(a) IRV, ERV

(b) Tidal volume, Residual volume

palcrfl<fl, GqocsoaoooDo, Gle((oocruo oglonlorojlersonlcotlolaolcm o$oAoom)a]d,s6

cenr c61 o8 cnoEejl ot'l o1 €olm,J.

(a) Gqaccrool omlo,Ofloaol3o Gq(otD@mJoroiloaor3o ECG(0c .,6;c6oerm;o

<o'r1o14cllcor3a,

10.

Dialysis, Kidney transPlantatio

B ooff) C".r Cajl oxotl o8 Gro oJ aQ)]os <r,: 6 m o oog](ole.

Pepsin, Lysozyme, Trypsinogen,
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13. Complete the flow chart showing the regulation

Glomerular Apparatus and Adrenal Cortex.

Fall in GFR

I
Activate JG Cells

I
Releases A)

I
Angiotensinogen

I

I

of kidney functioning by Juxta

Adrenal Cortex

gland, where as adrenal

of Cockroach from this

14.

15.

Angiotensin II

I
c) ........ . .

D) ...................... ... GFR

'Adrenal medulla is the centrally located tissue in the adrenal

cortex is located outside.'

How do adrenal cortex and medulla differ in their function ?

'Cockroach is said'to be Uricotelic.'

(a) What do you understand about the nature of excretion

statement ?

(b) Name two excretory organs of Cockroach.

16. Rewrite the given sentences if there is any mistake in the underlined part.

o Cartilage cells are called osteocycles.

o Bones are rich in Calcium salts.

a Intercalated discs are seen in skeletal muscle.

a Skeletal muscles are striated.

FY-26 18



13. ,-rugc cscoolelcd roogcogcruJc cn(c,rJlmo8 ca,c6!6"Cruio ols@oeoJos tololdo'nmo

crjlaoricro.jlaoScm<oiacerrll6orm c.,6cl c6i 
".r16oroj1 

co)c6o]e.

Fall in GFR

I
Activate JG Cells

I
Releases A)

t
Angiotensinogen

I

I
Angiotensin II

t
c) ...

<orrn1o1eo3cm olceJ@Rg|oer orasloLoojl$o1ao3cm

o(oglo6rl3so;loE <o'lloloroil ooelo)le

o Cartilage cells are called osteocycles'

a Bones are rich in Calcium salts.

o Intercalated dises are seen in skeletal muscle'

a Skeletal muscles are striated.

Adrenal Conex

D) . GFR

,onlar5lcnoE oaaDls, roocorjlmos L(])rlolco]os a(r)JecU?('ro-mm10iloo-19]Crn orelaoc5ln"'

o6)(mc cA oo torll mo6 Gec ded or ]oo rBc(,{o1o)" mrnl ofl o"-l g}Cm}'

so tar5l mnfl Gauc dQft ]c o a qDlB aolo cu d m oro'lo8 .,g onocn ol S<or Jc 
(ru o g$ o1 ao3cm1 ?

' ol c g a @] oollo1 ceercos ejl a dl ojl coc oem Gn- ol o eo oH s Jffi) J''

(a) go t"regcol61aor6a Crflcm- olcSao)]os o-rlm;6emoooraerlo12[ cnlooncd "Om)]

acncru'lelc€ol(mi ?

(b) oJcE(o)los (06rB" ojl(ruaecncojoroj6oBglos Golo(0e(o)JoJ'

ecc/)6'Io" o{;ocrCIBllE.l3o

19 P.T.O.



uI' Answer any 3 questions from I7 to Z,.Each carries 3 scores.
17. Observe the diagram.

(3x3=9)

(a) What does it denote ?
(b) What do p, eRS, T represent ?

(c) What is its clinical significance ?

19. Observe the figures.

(a) Identi$r the organisms A, B & C.
(b) Name the phylum to which each of them belong.

$
(A)

20

Compete the given table appropriately.

(i) (A)
Development of male accessory sex organs

(ii) Thymus

(iii) (D)
Maintains normal blood glucose levels

(iv) Pineal

FY.26
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GIand Hormones

Androgens

(B) _
Glucagon

(F)



17 a;<orc8 20 orooco3gg cic,r5arngto8 o6oorel,lerlo 3 q65molo'noi gorDooaelrollal.

3 cngcd o-llor.
all(oro crilcdleMoo3e

(3x3=9)

(a) eoi "ercro,lom 
m-t1"Jlgi1eo3cm; ?

(b) P, QRS, T "6crrllo E,-r<olcril<.uccno oolQlcna<oroor"?

(c) @<oilooe glcnleooE corcoccDJoocor"?

<o crrfl o1 ao gcm "l $ a Grd cnlc ao c B Ja c ao o'l to',1 aoil ctr 
"-t 36 otttil oor c €o lq.-

Jlloro cril<daMaer;a

(a)

(b)

26

t$
(A)

A, B, C "6cnfldlojlaog ollo14o1oor1e.

Qor 6'rccoccmlo gc6 og slon ooon a orofl oo! GoJ ooel(ole.

Gland Hormones Function

(i) (A) Androgens Development of male accessory sex organs

ii) Thvmus (B) (c)

lll D Glucagon Maintains normal blood glucose lgyglq

(iv) Pineal (E) G)

2l P.T.O.

(B)
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20. Observe the diagram :

Name the parts A & B.

Write the characteristics features of ,C,.

Arrange the given parts of eye in the sequence that light travels from the external
environment into the eye.

(Vitreous chamber, lens, cornea, retina, Aqueous chamber)

(a)

(b)

(c)

FY.26 ))



Jlgoro cnltdlaMoer3e

(a) A, B ogcrnloBoo.) GBsaocgogs3olo)lOtlolao}cm ecU)oRPJOS Gojo(oelcole.

(b) 'C' co.rSos mloJlcronsao og')elotle.

(c) orcosorocrrfloleer3cm *t#ilon! eccoeuRog' 6ilcooJellg3"lcdloS cnlcm"

*r#flm}gtr1cel€o- (oJ&C(oo 6ScnJ GolcoJ(m olc(o)aolos c6l(6)140n(o8

gadle,oleoSe.

(oil csl co m-:" roro o, o el o6cn l", c ac 6 orn'l cor, o o 
91 

cn, on a1 m)" <oo o)

23


